———

WA — /c

ML =g .3
V3 ~Jeg5 7;{3)‘/”6{/& A X;//
MYy —405 z/cﬂma( £ L O <
N5 —705 7‘/&/2/4» 647 “4«1'
W o1; 40 500 40k

4 5 664060
WQO&&W W@,C%.ngw i

To
P= 100 fc/loc
I/(OL)QEJ/»L
T:Z¥C°+Uo:zj§t/f”
= 10| KTy,

4,599,

B
107 622,53 18 meocest 25

ToTATT 2 = 19,65, hide BEL < ap P
1/ i 1 ey
Jitx Weo,)= V=026, mo upobito un Wﬁo—gxg ﬂa#ﬁ(po}a,ﬁo-
H#AWL



’ Z0Ch —> Zn"13)
ey (o) s
In FAe—> 7 \ Laﬂ%a}_.zz_?d

(ol =t Zn), 2By Zn 1), 05
h(Lly)=L£680L _ R
mH Lluw% 0,25

" (20) iz}, )=
N (ZN)= 17[\.,«,(0)% o i

M(ZH R II,J\'V{M 651//‘“0”%: ELOD.L
()= 84 i gy 05

0,2 UM PO/
‘@‘A‘R /Vg /675,,3//(/55
. U ol g tt, MDHCHO Unpld -

yobomt (A Ro
B
. Fe +ZHCI=~*W E

A- LKUIO, ot 5 g 11300 26

W -k powhashm :

| LHOEE D, 17 10 ;. CatLHO=Col(OH), +Hy 24

s DHU“OL He MGLOGIMN -0 LU 3~ KU AWM
1"0/{; /\DMM , —
. Z”‘)ﬂ”:zn (’}1+H1 : O‘L % M0y nouytiimb U3 2

3R Aol fom '
,MQO%ZHg +0p ; Hloz ‘)‘HLOW Hom 2§



A3 £5a4.46C
oo’ Lo
: > 0,08bwodh 0 09 undy 008&111»& 0,086
Mp-pa (400, (6)>200, (D #ou.Co vLM/goS Ao, +0oll
'35[\ - (Hu0s) = 150, I Y
(401(05) YT,/ 00456 M{do, CO 2000045629 1) .
WIHE03)= 4, 720,040 hgg:/q:ﬁ 2L = 0,086 wady
;’{DW m [ 5%’/«&
) (A 0HLOs) (H/V%) 50, 0,041 2 ¢3,
/vouVOQ MH'A(O) L3 0)uay
S 63
) VCMaB e pold I~MW
/WH/VO)EOI 0,026°0, 0111400y,
(xomu@uwbm emiDoL Kucupma
bemynum 4 [ bl ld) (/0 H (O~ Fhsy
0, 0MMumdy o0, i W04 pag Ay
@ VoL k (;03 + ﬁﬁfi \)/I/O(./ﬁoj f%ﬁm

b 100,)x

m (d/aWOS) 0,071 gv (;O%’L wmmL B

n C’D) oowz/g 0) 6 -me%
m - 3 ._
15 W Hw?)a LDO 150, ~ 0,606 =34, 35'\{

6, 043, -omm1#/ caga ~ 4D

§‘4 .34, hgﬁw —-/VC( 0
LO(/VO(_%Oj) 55— oomuart "f/ _6) --/UQHCO

%‘19 39‘1;_



MBOY COLL Ne50 r Benropop,

— LLIKonbHbil 3Tan Beepoccuiickoft onmmmags
no XA
knacc__|Q, JY kog paboter_4 O /0 3
" Bl Bl 5 07003
/1/1 féihuc €
Copagrasss 0ehssunte wyob | cogepamauuncs 66035 Iu(n
CRopaiiit iy
AN
PN
P=Joo Kllec
V( Q,): Blle
[=24C 427022974
I%::- [0] Kﬁm
lo=170K’
=1

T oo
por)a,}amwuocww»an\m
Jo(O)= 1051230 4 £gg

10]-29%

WALl a
N(0)= A0(0)) 20,105 3= 0Hlisouts 3 unpseylive Kwdopog

Vo ([0 IW:OHM g
@( 1) 0l 737 ) /

MO 0By < 0,005u0uy

LT Y0,
n{0)=) (L0,)20,005 22,0 [, oot Buodepgusn quskiss 3¢

nz(@:qﬁf{w,()[:qyle }301 Yo, W : ,?j'
A=A ﬁ,/l/(D):Q 02 10" 9,'42_:12\;53'I&sdmclﬂd( 2 .
Vo4 )=100- 18,57 030 13 5.3 n(#O= 1 6154 =07 P uns, 7°
o BIDYE! ) 1?,‘t/u(/m4,i£§ (T‘OWO‘”
JIC.K ‘A{COQ'—“V(A,\):; 0,125, mo WpoBHO Ut Rod~bo Bty R
L

Y




